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TARGET MATHS- 25/25

Ques-1:- If each side of a rectangle is increased by 20%, then its area will

increase by:

TS Teh ATIA ST TAH TAT H 20% hT Jiog hl AT §, AT 36k QIAEE H hl qhg
g 2

(a) 48.84%

(b) 50%

(c) 44%

(d) 46.65%



TARGET MATHS- 25/25

Ques-2:- In a AABC, the bisectors of <B and <C meet at O with in the triangle.
If <A =110°, then the measure of <BOC is

T AABC ¥ <B 3R <C & gufgamsts et % 0 W fier #1 afg <A = 1100, @t
<BOC T U &

(a) 110°

(b) 55°

(c) 145°

(d) 84°



TARGET MATHS- 25/25

Ques-3:- Two numbers are in the ratio 3: 4. On increasing each of them by 30,
the ratio becomes 9:10. The sum of the numbers is:

3T HEATY 3:4 3 ATUTA | §| 3TH A T hl 30 T@TH WX 3T 9:10 T AT 21
GEATST T TN E:

(a) 35

(b)30

((YIRY/

(d) 25



TARGET MATHS- 25/25

Ques-4:- A sum of money at compound interest amount to thrice itself in 15
years, so in how many years will it be 27 times itself?

IET: - Tshafeg ST T WR AT 15 TS H 3 AT € 2eft 2, A foherr el & =g 27 777
2\ ATOT 2

(a) 45

(b) 48

(c) 24

(d) 36



TARGET MATHS- 25/25

Ques-5:- Ifa+b+c=7and a’>+ b*+ ¢?-3abc =175, then what is the value of
(ab + bc + ca)?

gl a + b+ ¢ = 7 AW a*+ b*+ ¢ - 3abe = 1735, ar (ab+ bc+ ca) T HTF T 82

(a) 4

(b) 6

ON

(d) 8



TARGET MATHS- 25/25

Ques-6:- The ratio of the ages of A and B at present is 3: 1. Four years earlier the
ratio was 4: 1.The present age of A is:

FAUH | A 3R B 3T 3TF T AU 3:1 §l TR T YT g STTUTA 4:1 oM A 6T
AU AT &

(a) 40 years

(b) 32 years

(¢) 36 years

(d) 48 years



TARGET MATHS- 25/25

Ques-7:- If a?+b?+c?+3=2(a+b+c), then find 3a-2b+c ?
(a) 2
WK
(c) 1
(d) -2



TARGET MATHS- 25/25

Ques-8:- A sum of money is divided among A, B and C in the ratio 2:3:7,
respectively. If the share of B is Rs. 15,000, then what will be the difference in
the shares of B and C ?

TSk TTST hT SHATT: 2:3:7 o TUTA H A, B 3R C # farricra fomar Siat 1 afs B &t
f2=aT 15,000 TU , 97 B 21 C o IR H 9T 27 g2

(a) 15000

(b) 20000

(c) 25000

(d) 18000



TARGET MATHS- 25/25

i |
Ques-9:- (x +— )2=3, then the value of
x%00 + x200 + 270 4+ 4% 4 X1 + x2 + X0+ 1is

(a1
(b) 2
(c)0
(d) -1



TARGET MATHS- 25/25

1 : 3 6
Ques-10:- If x +; = -2 then what is the value of 1+ X~ + X" ?

(a) 1
(b) 2
(c) 0
(d) -1



TARGET MATHS- 25/25

Ques-11:- Find the lowest common multiple of 24,36 and 40?
3IT: 24, 36 TUT 40 THT TTHTH THTGAAE AT Sl 2

(a) 240

(b) 260

(c) 360

(d) 270



TARGET MATHS- 25/25

Ques-12:- The H.C.F. and L.C.M. of, two numbers are 4 and 24 respectively. If
one of the numbers is 12, then the other number is

3t AT o HETH AHTISh SR oTIH THTIE SHAT: § TR 48 3| A T
| 24 7, A O AT T 82

(a) 16

(b) 8

(c) 4

(d) 2



TARGET MATHS- 25/25

Ques-13:- A started a factory by investing Rs.2 lakhs, after 4 months B joined
with Investing Rs.4 Lakhs and after another 4 month C joined with investment
of Rs.6 lakhs and after another 4 months factory burnt. What is the ratio of loss
of A, Band C?

34T : A 2 I EUY T (A hleh Teh HITET IT& (R, 4 AR & 91E B 4 A1@
EUY o THE9T o T IS AT AR Tk AR 4 WA o6 15 C ¥ 6 TR TUA o a9 <6
T T TAT 3T Tk 3R 4 TEA 918 H@ET TS T4T A, B 3R C Y g1i e
FTATA FAT 2

(a)2:3:4

()RR}

(¢)3:4:3

(d)2:2:3



TARGET MATHS- 25/25

Ques-14:- A is 25% more than B and B is 40% less than C. If C is 30% more
than D, then by what percent is A less than D?

A, BT 25% 21fereR & 3 B, C & 40% T g1 A C, D A 30% ATAF T, aT A, DA
TR afaeTa w82

(a) 1.5 %
(b) 2.5 %
)4 %
(d)5 %



TARGET MATHS- 25/25

Ques-15:- If the side of a cube is in creased by 20%, then what will be the
percentage increase in the volume of cube?

ATE Tk 7 ST AT H 20% T Jheg T AT &, 1 97 & A H ferar wfaera 6
qig BT

(a) 60

(b) 66.6

(c) 72.8

(d) 68.5



TARGET MATHS- 25/25

Ques-16:- Two coins are tossed simultaneously. Find the
probability of getting-(ii) 1 Head & 1 tail on both coins ?
3ST: - 31 {UeRRl o1 Teh AT IBTAT HATAT &, ST Fererehl U —
(ii) TAT RreRRT § Ueh 2 31X Uk <A B

(a) 1/2

(b) 1/4

(c)3/4

(d) 3/8



TARGET MATHS- 25/25

Ques-17:- Two dice are thrown simultaneously ----
(i) What is probability of getting a sum 9
TRT 9 U <Al UTHRIehaT o/t 82
(a) 1/9
(b) 1/6
(c) 1/4
(d) 3/7



TARGET MATHS- 25/25

Ques-18:- From a pack of 52 cards, a card is drawn at random. Find the
probability that the drawn card is a king ?

HTE o Ueh U, Teh IS TTGe5eh €U 8 dIR (AT ATAT gl 38 WHTSAT i @i Tk
TIR TS Teh TSATE ?

(a) 2/13
(b) 1/26
(c) 1/13
(d) 3/13



TARGET MATHS- 25/25

Ques-19:- The ratio of the present age of A and B is 3:4. After 5 years, the ratio
of the ages of A and B will be 7:9. What will be the present age of A ?

ITT:- A 3R B Y TAHT T T AT 3: 4 3| 5 TG 6 Aq1E, A 3R B Y 1T 0
FTUTA 7: 9 T A ST TARTT AT AT FIIT?

(a) 35 years

(b) 40 years

(¢) 30 years

(d) 45 years



TARGET MATHS- 25/25

Ques-20:- Selling price of 20 articles is equal to the cost price of 25 articles. Find

the profit or loss percentage?
ITT:- 20 TEGST T Torshl Hed 25 TEJSAN o AN Hed oh SER gl aF T a7 gii

9T T shiteTa?
(2) 25 %
(b) 20 %
ORIEZ
(d) 45 %



TARGET MATHS- 25/25

Ques-21:- A manufacturer makes a profit of 15% by selling a colour TV for Rs.
5750. If the cost of manufacturing increases by 30% and the price paid by the
retailer is increased by 20%, find the profit percent made by the manufacturer.

3aT:- Teh TAHTAT 5750 TUA 7 T At A=t 15% KT ST HATAT 2l afe fFator i
TN 30% & ST & 3T G Tershdl FRT WITAT <hl T3 shid 20% 97 STt &,
Fatar g e forw o @ utaeta < o R 2

(2) 6.15 %

(b) 6.25 %

©)5 %

(d) 4.5 %



TARGET MATHS- 25/25

Ques-22:- A profit of 12% is made when a mobile phone is sold at Rs. P and
there is 4% loss when is sold at Rs. Q then find Q : P?

32T:- 12% HT ATH dd BT & S Ueh HISTS I P U ST ST & 3R A Q W
SOIT ATAT 8 AT 4% BT BHdT 8, AT Q: P T HATATA T hi?

(a) 6:7

(b) 7:6

(c) 3:4

(d) 4:3



TARGET MATHS- 25/25

3 1 3
Ques-23:- What 1s the value of 13; + 1SZ + 8 i

YR

(b) 40 3/7
(¢)1311/13
(d) 52 7/36



TARGET MATHS- 25/25

1 2 3 4 5 6
Ques-24:- 999=+999 = +999 — +999 — +999 — +999 — =79
7 7 7 7 7 7

(a) 5997
(b) 5993
(¢) 6000
(d) 4693



TARGET MATHS- 25/25

Ques-25:- Find the value of 7% x 49% = 7% x 343
(a)6
W,

(€) S
(d) 4



TARGET MATHS- 25/25

Ques-26:- A man has some hens and cows. If number of heads is 48 and number of
feet 1s 140, then the number of hens will be?

Teh SATEHT o T 6 qRTAT 1T 21 At ol ol S 48 € IO o 6t 140 &, d1
fitit 1 e

(a) 26

(b) 22

(c) 24

(d) 20



TARGET MATHS- 25/25

Ques-27:- If P, Q and R can complete a work 1n 6 days. If P can work twice faster
than Q and thrice faster than R, then the number of days Q alone can complete the
work 1s

74 P, Q 3T R Tk s ol 6 TaT H T L kel © | Al P, Q | ST dISit § hTH T &
3T R ¥ T T ST & T AT &, 1 fohe o1 o Q 3Tkt S SRl U T Hehdll &7

(a) 11 days

(b) 21 days

(c) 22 days

(d) 33 days




TARGET MATHS- 25/25

Ques-28:- If the height of a cone 1s increased by 50% then what 1s the percentage
increase 1n the volume of cone?

fa Teh 21k shl HATE | 50% g L STl 2, 1 2k o TG H Tfaerd i .1 &2
(a) 25%

(b) 50%

(¢) 75%

(d) 100%




TARGET MATHS- 25/25

Ques-29:- The average salary of all the workers 1n a workshop 1s Rs.8000. The
average salary of 7 technicians 1s Rs.12000 and the average salary of the rest 1s
Rs.6000. Find The total number of workers in the workshop.

3ST: Weh ShIISTTAT H Gt 2IfHehT oht 3T Ed = 8000 I | 7 Teh= 13T ohT 31T odd

12000 ¥ & TR T AT HEd A 6000 FTH | SHIFRITAT H 2HHhT shl el HEAT T Ul
|

(A) 14

(B) 21

(C) 28

(D) 35



TARGET MATHS- 25/25

Ques-30:- The length of a rectangular field 1s increased by 20% and breadth 1s
decreased by 20%. What is the per cent increase or decrease in its area?

Uk SRR ©d hi TeTg H 20% i Jig, ST SIS H 20% ohl hHT 3hT STt 2| 36
&he] 1 fohd TTCRTd shl Jhg AT T &2

(A) 9%

(B) 16%

(C) 4 %

(D)12%




TARGET MATHS- 25/25

Ques-31:- The ratio of no. of students of two classes are 5:9, If 5 students are
admitted 1n each class the ratio will become 4:7. So find the number of students in
these classes now ?

3aT:- 1 hegTaAl H foranfefa shi € sl ST 5:9 2| TS Teieh hafl 7 5 forameff 3R
STRIAT & o, T STehT 4:7 IATUTA BT STl &1 T T I eTAT | Foef fopert forammeff =iy 2
(A) 220

(B) 240

(C) 260

(D) 200




TARGET MATHS- 25/25

Ques-32:- Pipes P and Q can fill a tank 1n 10 and 12 hours respectively and C can
empty 1t in 6 hours. It all the three are opened at 5 a.m., at what time will one-fourth

of the tank be filled?

P 3T Q T Teh Zohl ohl SHART: 10 I 12 H0ET H T WL Hehd & AT SHT ohl T Teh 3
T C 30 6 HUET H WTcAl L Eehell @ | Fla A1 e Teh {1 Tl 5 &1t =iTe] L ol ST,
<TTS dohl fohd T deh T TR

(A) 8 a.m.

(B) 8 p.m.

(C) 9 am.

(D) 8 p.m.




TARGET MATHS- 25/25

Ques-33:- What is the digit in unit’s place of the product 81 x 82 X 83 —------mmm---
x 89 7

81 X 82 X 83 —ommmmmmem- 88 x 89 o UMWl H $ohT3 oh AT UL 3ieh T &2

(A) 1

(B) 2

(€0

(D)5




TARGET MATHS- 25/25

Ques-34:- The employer decreases the number of his employees in the ratio 10:9 and

increases their wages in the ratio 11:12. What 1s the ratio of his two expenditures?
3aT:- Teh (AR A A SHHETIAT ohl G H 10:9 o STIATA H FHHT shl I 3Tk A |

11:12 3 3TUTd H 1 ohl IR o T @il 3hT STAAT Shifs,
(A) 55:54

(B) 54:55

(C) 3:2

(D) 2:3




TARGET MATHS- 25/25

Ques-35:- If radius of circle 1s decreased by 10%.then find the % change 1n its Area ?
1S TRl I <kl SAT 10 % 52 ST & a1 3ok &l H T JGalTd ST 2

(A) 20%

(B) 19%

(C) 21%

(D) 30%




TARGET MATHS- 25/25

Ques-36:- What 1s the value of 1+2+3 +4 ....... + 407
142+ 3+4 ... +40 T HE FTR?

(A) 800

(B) 420

(C) 820

(D) 740



TARGET MATHS- 25/25

Ques-37:- A man spends 60% of his salary. If his income 1s increased by 30% and
expenditure 1s increased by 20% find % change in saving ?

g Sfch STIT 3T T 60 % T hLdT Bl TS IHh! AT 30 % T 9 Tl & , df U
T Wt 20 % 9 IS AT 21 39eh! =i | T SgcATd BT 2

(A) 12 %

(B) 40%

(C) 45%

(D) 30%




TARGET MATHS- 25/25

Ques-38:- A man spends 60% of his salary. If his income 1s increased by 30% and
expenditure 1s increased by 20% find % change in saving ?
1S STch STIT 3T T 60 % T HLdT Bl AT IHeh! AT 30 % T € AT & , AT SHhT
@ o 20 % 9 T AT 2| o Ikl =i § IT SIS T 2
(A) 12 %
(B) 40%
(C) 45%
(D) 30%




TARGET MATHS- 25/25

Ques-39:- A number when divided by 56 leaves remainder 29. What is the remainder
when the same number 1s divided by 7 ?

Uk GEAT ol 5161 56  TorvTisia foraT SITaT a1 2I9whet 15 979 BidT 8 5o 36T 6 ATl 7 9
ferTora fera ST 2 ot s iy 22

GVE

(B) 2

©) 1

(D) 4




TARGET MATHS- 25/25

Ques-40:- If 523457Y 1s completely divisible by 9, then what will be the digit in
place of Y?

afe 523457Y, 9 € 0 & § fawrsa 8, A1 Y o T 9L 1 375k g1

(A) 4

(B)3

€)1

(D)2




TARGET MATHS- 25/25

Ques-41:- 24 men can do a piece of work 1n 12 days 1f they work 8 hours per day.
Find the number of days in which 36 men can do 6 hour per day?

IaT:- A 24 ATEHT e 8 © el Fteh T 1 12 T 5 T T Fehd =1 1 36 A&H
gfdfaT 6 5ic il shieh SHY 1 hi fohde T § THTH i 9

(A) 10 days

(B) 10 2/3 days

(C) 20 days

(D) 40 days




TARGET MATHS- 25/25

Ques-42:- If 5 men or 9 women can do a piece of work in 19 days . In how many

days 3 men and 6 women will do the same work ?
IaT:- IS 5 T AT 9 TR Tk hrdd 2l 19 T o THTH oAt okl 1 1 3 T 3R 6 7R 39
T Shl fohl TaaT H O 4T 2

(A) 10 days
(B) 15 days
(C) 20 days
(D) 12 days



TARGET MATHS- 25/25

Ques-43:- A and B can do a piece of work in 30 days, while B and C can do the same
work 1n 24 days and C and A 1n 20 days. They all work together for 10 days then B
and C left. In how many more days will A take to finish the work ?

32T~ A 3T B 30 AT H Ueh T oL Tehd &, STalfeh B 3T C THE &1 ol 24 AT 7 3R C
I A, 20 feT G o gehd 31 3 Y 10 foT & fA¢ teh @1 10 otd &, 991 B 3 C & |
BIE I © | AT 37 <1 5T k1A A Tora T o mrew st 2

(A) 18 days

(B) 15 days

(C) 20 days

(D) 16 days




TARGET MATHS- 25/25

Ques-44:- A can build a wall in 30 days, while B alone can build it in 40 days. If they
build 1t together and get a payment of Rs 7000. What 1s B’s share?

3aT:- A Tordt [gaR =T 30 To | o1 GehaT &l STaileh B TR G @l 40 Tad | ST ehdT &
e ST et ot 38 feam vt sAR, fSmreh foTw 3= 7000 % foet| ot B a1 feedr 3ma &4 22
(A) 2000

(B) 3000

(C) 2500

(D) 1500




TARGET MATHS- 25/25

Ques-45:-Two pipes A and B can fill a tank in 15 min and 20 min respectively. If
both the pipes are opened simultaneously, but after 4 min pipe B 1s turned off. What
1s the total time required to fill the tank ?

3aT:- T UTET A 7R B foreft 3ot ant shurr: 15 e o 20 fire o o1 © | 3fe g arga
|1 ¥ Eict ST W 4 THie sI1e B sl sig o 14T STQ) a1 oh Tohelt o H At 2
(A) 8 min

(B) 4 min

(C) 5 min

(D) 6 min




TARGET MATHS- 25/25

Ques-46:-What least number must be added to each of the numbers 4,10, 12 and 24
so that the numbers may be proportion

IAT- 4,10,12 TAT 24 H 98 I € S HEAT ST ST 6@ S g8 H@A1e §H-aTd 8
0

(A) 1

(B) 2

(OF,

(D) 4




TARGET MATHS- 25/25

Ques-47:-Three equal containers are filled with mixtures of spirit and water. In first
container the ratio of spirit to water 1s 1:3, in the second 3:5 and 1n the third 5:7. If all
the mixture are mixed 1n the bigger container. Find the ratio of spirit and water in the
resultant mixture?

3T : T S T # i ST oY o firsror iy g7t 81wt u § Rafie o ot o
ST 1:3, ECH 3:5 qT e d 5.7 2 e AT T T U o O A e R o Ay
maﬁﬁr&wﬁ&wﬁzﬁxﬁw ST T BT 2
(A) 2:3
(B) 3:2
(C) 25:47
(D) 47:25




TARGET MATHS- 25/25

Ques-48:-Find the compound interest on 15625 at 16% per annum for 9 months
when Compounded quarterly ?

16% e A, Tsha g, [ATal |, 9 AR o 07U 15625 ¥ UX Fshdi, SATSl TITT, 2
(A) 1875

(B) 1951

(C) 1825

(D) 1925




TARGET MATHS- 25/25

Ques-49:-The average of 5 consecutive even number 1s 46. Find the smallest number
?

33T:- ATAR 5 99 AT o1 3T 46 2| T8 ST AT JTd shiTsTe?

(A) 44
(B) 42
(C) 40
(D) 36
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